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NEW QUESTION 1
The customer needs a network hardware refresh to replace an aging Aruba 5406R core switch pair using spanning tree configuration with Aruba CX 8360-32YC
switches What is the benefit of VSX clustering with the new solution?

A. stacked data-plane

B. faster MSTP converge processing

C. dual Aruba AP LAN port connectivity for POE redundancy
D. dual control plane provides better resiliency

Answer: D

Explanation:

VSX clustering is a feature that allows two Aruba CX switches to operate as a single logical device, providing high availability, scalability, and simplified
management. VSX clustering has several benefits over spanning tree configuration, such as:

? Dual control plane provides better resiliency. Unlike stacking, where switches share a single control plane, VSX switches have independent control planes that
synchronize their states over an inter-switch link (ISL). This means that if one switch fails or reboots, the other switch can continue to operate without affecting
traffic flows or network services.

? Active-active forwarding provides better performance. Unlike spanning tree, where some links are blocked to prevent loops, VSX switches use all available links
for forwarding traffic, providing load balancing and increased bandwidth utilization.

? Multichassis LAG provides better redundancy. Unlike single-chassis LAG, where all member ports belong to one switch, VSX switches can form multichassis
LAGs with downstream or upstream devices, where member ports are distributed across both switches. This provides link redundancy and seamless failover in
case of switch or port failure.

References: https://www.arubanetworks.com/assets/tg/TG_VSX.pdf

NEW QUESTION 2

A customer is using a legacy application that communicates at layer-2. The customer would like to keep this application working across the campus which is
connected via layer-3. The legacy devices are connected to Aruba CX 6300 switches throughout the campus. Which technology minimizes flooding so the legacy
application can work efficiently?

A. Generic Routing Encapsulation (GRE)
B. EVPN-VXLAN

C. Ethernet over IP (EolP)

D. Static VXLAN

Answer: B

Explanation:

EVPN-VXLAN is a technology that allows layer-2 communication across layer-3 networks by using Ethernet VPN (EVPN) as a control plane and Virtual Extensible
LAN (VXLAN) as a data plane3. EVPN-VXLAN can be used to support legacy applications that communicate at layer-2 across different campuses or data centers
that are connected via layer-3. EVPN-VXLAN minimizes flooding by using BGP to distribute MAC addresses and IP addresses of hosts across different VXLAN
segments3. EVPN-VXLAN also provides benefits such as loop prevention, load balancing, mobility, and scalability3. References: 3
https://www.arubanetworks.com/assets/tg/TG_EVPN_VXLAN.pdf

NEW QUESTION 3
What is the best practice for handling voice traffic with dynamic segmentation on AOS-CX switches?

A. Switch authentication and local forwarding of the voice traffic

B. Switch authentication and user-based tunneling of the voice traffic.
C. Central authentication and port-based tunneling of the voice traffic.
D. Controller authentication and port-based tunneling of all traffic

Answer: A

Explanation:

This is the best practice for handling voice traffic with dynamic segmentation on AOS-CX switches. Dynamic segmentation is a feature that allows AOS-CX
switches to tunnel user traffic to a controller or another switch based on user roles and policies. For voice traffic, it is recommended to use switch authentication
and local forwarding, which means the voice devices are authenticated by the switch and their traffic is forwarded locally without tunneling. This reduces latency
and jitter for voice traffic and improves voice quality. The other options are incorrect because they either use central authentication or tunneling, which are not
optimal for voice traffic. References: https://www.arubanetworks.com/techdocs/AOS-CX/10.04/HTML/5200-6728/bk01- ch05.html
https://www.arubanetworks.com/assets/ds/DS_AOS-CX.pdf

NEW QUESTION 4
On AOS10 Gateways, which device persona is only available when configuring a Gateway- only group'?

A. Edge

B. Mobility

C. Branch

D. VPN Concentrator

Answer: B

Explanation:

AOS 10 Gateways can have the following personas: Mobility, Branch, and VPN Concentratorl However, the Mobility persona is only available when configuring a
Gateway-only group, which is a group that contains only one gateway device2 The Mobility persona provides Overlay WLAN and (or) wired LAN functionalities for
campus networksl The Branch persona provides the Aruba Instant OS and SD-Branch (LAN + WAN) functionality for branch and microbranch networksl1 The VPN
Concentrator persona provides VPN termination and routing functionality for remote access networks3 The Edge persona is not a valid option, as it is not a
supported device persona for AOS 10 Gateways.
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NEW QUESTION 5
For the Aruba CX 6400 switch, what does virtual output queueing (VOQ) implement that is different from most typical campus switches?

A. large ingress packet buffers
B. large egress packet buffers
C. per port ASICs

D. VSX

Answer: A

Explanation:

The Aruba CX 6400 switch is a modular switch that supports high- performance and high-density Ethernet switching for campus and data center networks. One of
the features that distinguishes the Aruba CX 6400 switch from most typical campus switches is virtual output queueing (VOQ). VOQ is a technique that implements
large ingress packet buffers on each port to prevent head-of-line blocking and packet loss due to congestion2. VOQ allows each port to have multiple queues for
different output ports and prioritize packets based on their destination and QoS class2. VOQ enables the Aruba CX 6400 switch to achieve high throughput and
low latency for various traffic types and

scenarios. References: 2 https://www.arubanetworks.com/assets/ds/DS_CX6400Series.pdf

NEW QUESTION 6
Your Aruba CX 6300 VSF stack has OSPF adjacency over SVI 10 with LAG 1 to a neighboring device The following configuration was created on the switch:

vlian 20,30, 40

e

interface vlan 20
ip address 10.10.20.1/24

-

)

ce vlian 3
address 10.10.30.1/24

interface vlian 40
ip address 10.10.40.1/24
vian 20, 30,40
OsSpf passive
interface vian 20,30,40
ip OSpf passwe

router ospf 1

area 0

passive-interface
vian 20.30.40

D)

Passing Certification Exams Made Easy visit - https://www.2PassEasy.com



Welcome to download the Newest 2passeasy HPE7-A01 dumps

@ 2 P QsseaQs LJ https://lwww.2passeasy.com/dumps/HPE7-A01/ (119 New Questions)

router ospf 1
area 0
redistnbute local

A. Option A
B. Option B
C. Option C
D. Option D

Answer: B

Explanation:

OSPF (Open Shortest Path First) is a routing protocol that uses link-state information to calculate the best path to each destination in the network. OSPF
establishes adjacencies with neighboring routers to exchange routing information and maintain a consistent view of the network topology1.

To establish an OSPF adjacency, the routers need to have some common parameters, such as the area ID, the network type, the hello interval, the dead interval,
and the authentication method2. The routers also need to have a matching subnet mask on the interface that connects them3.

In this case, the Aruba CX 6300 VSF stack has an SVI (Switched Virtual Interface) on VLAN 10 with an IP address of 10.1.1.1/24 and a LAG (Link Aggregation
Group) on port 1/1/1 and port 2/1/1 that connects to a neighboring device. The SVI is configured with OSPF area 0 and network type broadcast. The LAG is
configured with OSPF passive mode, which means that it will not send or receive OSPF hello packets.

The neighboring device has an interface with an IP address of 10.1.1.2/24 and a LAG on port 1/0/1 and port 2/0/1 that connects to the Aruba CX 6300 VSF stack.
The interface is configured with OSPF area 0 and network type broadcast.

Since the Aruba CX 6300 VSF stack and the neighboring device have the same area ID, network type, subnet mask, and default hello and dead intervals on their
interfaces, they will be able to establish an OSPF adjacency over SVI 10 with LAG 1. The OSPF passive mode on the LAG will not affect the adjacency, because it
only applies to the LAG interface, not the SVI interface.

NEW QUESTION 7
A client is connecting to 802.1X SSID that has been configured in tunnel mode with the default AP-group settings.
After receiving Access-Accept from the RADIUS server, the Aruba Gateway will send Access-Accept to the AP through which tunnel?

A. IPsec tunnel
B. Split tunnel
C. GRE tunnel
D. PAR tunnel

Answer: C

Explanation:

According to the Aruba Documentation Portall, 802.1X is a standard for port- based network access control that uses a RADIUS server to authenticate and
authorize wireless clients. 802.1X can be configured in different modes, such as bridge mode, tunnel mode, or split tunnel mode.

Option C: GRE tunnel

This is because option C shows how to configure an SSID in tunnel mode with the default AP-group settings on an Aruba switch. In tunnel mode, all client traffic
from the access points is tunneled back to the controller and the controller would in turn put the client traffic onto the network2. The GRE protocol is used to
encapsulate and decapsulate the traffic between the access points and the controller3.

Therefore, option C is correct.

1: https://www.arubanetworks.com/techdocs/AOS-CX/10.06/HTML/5200-7696/GUID-581D2976-694B-46C7-8497-F6B788AA05B2.html 2:
https://community.arubanetworks.com/discussion/bridge-and-tunnel-mode 3: https://www.twingate.com/blog/ipsec-tunnel-mode

NEW QUESTION 8
Which feature allows the device to remain operational when a remote link failure occurs between a Gateway cluster and a RADIUS server that is either in the cloud
or a datacenter?

A. MAC caching

B. MAC Authentication

C. Authentication survivability
D. Opportunistic key caching

Answer: C

Explanation:

Authentication survivability is a feature that allows the device to remain operational when a remote link failure occurs between a Gateway cluster and a RADIUS
server that is either in the cloud or a datacenter. Authentication survivability enables the Gateway cluster to cache successful authentication requests from the
RADIUS server and use them to authenticate clients when the RADIUS server is unreachable. Authentication survivability also allows clients to use MAC caching
or MAC authentication bypass (MAB) methods to access the network when the RADIUS server is down. References:
https://www.arubanetworks.com/assets/tg/TG_AuthSurvivability.pdf

NEW QUESTION 9
In an ArubaOS 10 architecture using an AP and a gateway, what happens when a client attempts to join the network and the WLAN is configured with OWE?

A. Authentication information is not exchanged
B. The Gateway will not respond.

C. No encryption is applied.

D. RADIUS protocol is utilized.
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Answer: A

Explanation:

This is the correct statement about what happens when a client attempts to join the network and the WLAN is configured with OWE (Opportunistic Wireless
Encryption). OWE is a standard that provides encryption for open networks without requiring any authentication or credentials from the client or the network. OWE
uses a Diffie-Hellman key exchange mechanism to establish a secure session between the client and the AP without exchanging any authentication information.
The other options are incorrect because they either describe scenarios that require authentication or encryption methods that are not used by OWE. References:
https://www.arubanetworks.com/assets/wp/WP_WiFi6.pdf https://www.arubanetworks.com/assets/ds/DS_AP510Series.pdf

NEW QUESTION 10
By default, Best Effort is higher priority than which priority traffic type?

A. All queues

B. Background

C. Internet Control
D. Network Control

Answer: B

Explanation:

This is because Best Effort traffic is all other kinds of non-detrimental traffic that are not sensitive to Quality of Service metrics (jitter, packet loss, latency). A
typical example would be peer-to-peer and email applications2. Background traffic is a type of traffic that is used for system maintenance or backup purposes and
does not affect the performance or availability of the network3.

Therefore, Best Effort traffic has a higher priority than Background traffic in terms of network resources allocation and management.

1: https://www.arubanetworks.com/techdocs/ArubaDocPortal/content/docportal.htm 2: https://stackoverflow.com/questions/33854306/best-effort-traffic-and-real-
time-traffic- difference 3: https://www.informit.com/articles/article.aspx?p=25315&seqNum=4

NEW QUESTION 10
What is used to retrieve data stored in a Management Information Base (MIS)?

A. SNMPv3
B. DSCP
C.TLV

D. CDP

Answer: A

Explanation:

The correct answer is A. SNMPv3.

SNMPV3 is a protocol that is used to retrieve data stored in a Management Information Base (MIB), which is a database of managed objects in a network.
SNMPv3 provides security and access control features that are not available in earlier versions of SNMP. SNMPv3 can also use encryption to protect the data
from unauthorized access or modification.

According to the Aruba Certified Professional — Campus Access documentl, one of the skills that this certification validates is:

? Implement and Analyze the output from common network monitoring tools

The document also mentions that the candidate should have a distinguished understanding of different protocols across vendors, which implies that they should be
familiar with SNMPv3 and how it can be used to access MIB data.

NEW QUESTION 13

A customer is using stacked Aruba CX 6200 and CX 6300 switches for access and a VSX pair of Aruba CX 8325 as a collapsed core 802 1X is implemented for
authentication. Due to the lack of cabling, some unmanaged switches are still in use Sometimes devices behind these switches cause network outages The switch
should send a warning to the helpdesk when the problem occurs You have been asked to implement an effective solution to the problem

What is the solution for this?

A. Configure spanning tree on the Aruba CX 8325 switches Set the trap-option

B. Configure loop protection on all edge ports of the Aruba CX 6200 and CX 6300 switches No trap option is needed
C. Configure loop protection on all edge ports of the Aruba CX 6200 and CX 6300 switches Set up the trap-option
D. Configure spanning tree on the Aruba CX 6200 and CX 6300 switches No trap option is needed

Answer: C

Explanation:

This is the correct solution to the problem of devices behind unmanaged switches causing network outages due to loops. Loop protection is a feature that allows
an Aruba CX switch to detect and prevent loops by sending loop protection packets on each port, LAG, or VLAN on which loop protection is enabled. If a loop
protection packet is received by the same switch that sent it, it indicates a loop exists and an action is taken based on the configuration. Loop protection should be
configured on all edge ports of the Aruba CX 6200 and CX 6300 switches, which are the ports that connect to end devices or unmanaged switches. The trap-
option should be set up to send a warning to the helpdesk when a loop is detected. The other options are incorrect because they either do not configure loop
protection or do not set up the trap-option. References: https://www.arubanetworks.com/techdocs/AOS-
CX/10.05/HTML/5200-7540/GUID-99A8B276-0DA3-4458-AFD8-42BFEC29D4F5.html
https://www.arubanetworks.com/techdocs/AOS-CX/10.05/HTML/5200-7540/GUID-D8613BDE-CD21-4B83-8561-17DB0311EDS8F.html

NEW QUESTION 15

Your Director of Security asks you to assign AOS-CX switch management roles to new employees based on their specific job requirements. After the configuration
was complete, it was noted that a user assigned with the auditors role did not have the appropriate level of access on the switch.

The user was not allowed to perform firmware upgrades and a privilege level of 15 was not assigned to their role. Which default management role should have
been assigned for the user?

A. sysadmin

B. sysops
C. administrators
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D. config
Answer: B

Explanation:

The correct answer is B. sysops.

The sysops user role is a predefined role that allows users to perform system operations on the switch, such as backup, restore, upgrade, or reboot. The sysops
user role also has access to the PUT and POST methods for REST API, which can be used to modify the switch configuration. The sysops user role has a
privilege level of 15, which is the highest level of access on the switchl.

The other options are incorrect because:

? A. sysadmin: The sysadmin user role is a predefined role that allows users to view and modify the switch configuration using the CLI or the Web UI. The
sysadmin user role does not have access to the REST API methods, and cannot perform firmware upgradesl.

? C. administrators: The administrators user role is a predefined role that has full access to all switch configuration information and all REST API methods. This
role is more than what the Director of Security requiresl.

? D. config: The config user role is a predefined role that allows users to view and modify the switch configuration using the CLI or the Web Ul. The config user role
does not have access to the REST API methods, and cannot perform firmware upgradesl.

NEW QUESTION 20
What is one advantage of using OCSP vs CRLs for certificate validation?

A. reduces latency between the time a certificate is revoked and validation reflects this status
B. less complex to implement

C. higher availability for certificate validation

D. supports longer certificate validity periods

Answer: A

Explanation:

OCSP is a protocol that allows clients to query the CA or a trusted responder for the status of a specific certificate. OCSP requests and responses are smaller and
faster than CRLs, and they can provide real-time information about the revocation status of a certificate12. CRLs are lists of all revoked certificates that are
downloaded from the

CA. CRLs can present issues, as they can become outdated and have to be downloaded frequentlyl3. Therefore, OCSP reduces latency between the time a
certificate is revoked and validation reflects this status. References: 1 https://sectigostore.com/blog/ocsp-vs-crl- whats-the-difference/ 2
https://www.keyfactor.com/blog/what-is-a-certificate-revocation-list-crl-vs-ocsp/ 3 https://www.fortinet.com/resources/cyberglossary/ocsp

NEW QUESTION 21
Refer to the exhibit.

Core-1 Core-2

r—

o >

Access-1 Access-2

With Core-1. what is the default value for config-revision?

0O w>»
oOrR R

-0
.0
Answer: A

Explanation:
The default value for config-revision on Core-1 is 0. Config-revision is a parameter that indicates the configuration version of a VSX pair. It is used to synchronize
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the configuration between the VSX peers and to detect any configuration mismatch. The config-revision value is set to 0 by default on both VSX peers and is
incremented by 1 every time a configuration change is made on either peer. The other options are incorrect because they do not reflect the default value of config-
revision. References: https://www.arubanetworks.com/techdocs/AOS-CX/10.04/HTML/5200-6728/bk01- ch07.html https://www.arubanetworks.com/techdocs/AOS-
CX/10.04/HTML/5200- 6728/bk01-ch02.html

NEW QUESTION 26
What is an Aruba-recommended best practice for hardening that only applies to Aruba CX 6300 series switches with dedicated management ports?

A. Implement a control plane ACL to limit access to approved IPs and/or subnets
B. Manually enable Enhanced Security Mode from a console session.

C. Disable all management services on the default VRF.

D. Create a dedicated management VRF, and assign the management port to it.

Answer: D

Explanation:

This is an Aruba-recommended best practice for hardening that only applies to Aruba CX 6300 series switches with dedicated management ports. A dedicated
management port is a physical port that is used exclusively for out-of-band management access to the switch. A dedicated management VRF is a virtual routing
and forwarding instance that isolates the management traffic from other traffic on the switch. By creating a dedicated management VRF and assigning the
management port to it, the administrator can enhance the security and performance of the management access to the switch. The other options are incorrect
because they either do not apply to switches with dedicated management ports or do not follow Aruba-recommended best practices. References:
https://www.arubanetworks.com/assets/ds/DS_AOS-CX.pdf https://www.arubanetworks.com/assets/tg/TB_ArubaCX_Switching.pdf

NEW QUESTION 29

A network engineer recently identified that a wired device connected to a CX Switch is misbehaving on the network To address this issue, a new ClearPass policy
has been put in place to prevent this device from connecting to the network again.

Which steps need to be implemented to allow ClearPass to perform a CoA and change the access for this wired device? (Select two.)

A. Confirm that NTP is configured on the switch and ClearPass
B. Configure dynamic authorization on the switch.

C. Bounce the switchport

D. Use Dynamic Segmentation.

E. Configure dynamic authorization on the switchport

Answer: BC

Explanation:

CoA (Change of Authorization) is a feature that allows ClearPass to dynamically change the authorization and access privileges of a device after it has been
authenticatedl. CoA uses RADIUS messages to communicate with the network device and instruct it to perform an action, such as reauthenticating the device,
applying a new VLAN or user role, or disconnecting the device2.

To enable CoA on a CX switch, the network engineer needs to configure dynamic authorization on the switch, which is a global command that allows the switch to
accept RADIUS messages from ClearPass and execute the requested actions3. The network engineer also needs to specify the IP address and shared secret of
ClearPass as a dynamic authorization client on the switch3.

To trigger CoA for a specific wired device, the network engineer needs to bounce the switchport, which is an action that temporarily disables and re-enables the
port where the device is connected. This forces the device to reauthenticate and receive the new policy from ClearPass. Bouncing the switchport can be done
manually by using the interface shutdown and no shutdown commands, or automatically by using ClearPass as a CoA server and sending a RADIUS message
with the Port-Bounce-Host AVP (Attribute-Value Pair).

NEW QUESTION 34
A large retail client is looking to generate a rich set of contextual data based on the location information of wireless clients in their stores Which standard uses
Round Trip Time (RTT) and Fine Time Measurements (FTM) to calculate the distance a client is from an AP?

A. 802.11ah
B. 802.11mc
C. 802.11be
D. 802.11V

Answer: B

Explanation:

802.11mc is a standard that uses Round Trip Time (RTT) and Fine Time Measurements (FTM) to calculate the distance a client is from an AP. 802.11mc defines
a protocol for exchanging FTM frames between an AP and a client, which contain timestamps that indicate when the frames were transmitted and received. By
measuring the RTT of these frames, the AP or the client can estimate their distance based on the speed of light. The other options are incorrect because they
either do not use RTT or FTM or do not exist as standards. References: https://www.arubanetworks.com/assets/wp/WP_WiFi6.pdf
https://www.arubanetworks.com/assets/ds/DS_AP510Series.pdf

NEW QUESTION 38
DRAG DROP
Match the solution components of NetConductor (Options may be used more than once or not at all.)
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A. Mastered
B. Not Mastered

Answer: A

Explanation:

Client Insights matches with Built in , Al powered client visibility and fingerprinting capability that leverages infrastructure telemetry and ML based classification
models to eliminate network bling spots

Client Insights is a solution component of NetConductor that provides built-in, Al-powered client visibility and fingerprinting capability that leverages infrastructure
telemetry and ML- based classification models to eliminate network blind spots. Client Insights uses machine learning to automatically detect, identify, and classify
devices on the network, such as loT devices, BYOD devices, or rogue devices. Client Insights also provides behavioral analytics and anomaly detection to monitor
device performance and security posture. Client Insights helps network administrators gain visibility into the device landscape, enforce granular access policies,
and troubleshoot issues faster. References: https://www.arubanetworks.com/products/network-management- operations/central/netconductor/
https://www.arubanetworks.com/assets/wp/WP_NetConductor.pdf

Cloud Auth matches with Enables fictionless onboarding of end users and client devices either through MAC address-based authentication or through integrations
with common cloud identity stores

Cloud Auth is a solution component of NetConductor that enables frictionless onboarding of end users and client devices either through MAC address-based
authentication or through integrations with common cloud identity stores. Cloud Auth is a cloud-native network access control (NAC) solution that is delivered via
Aruba Central. Cloud Auth allows network administrators to define user and device groups, assign roles and policies, and enforce access control across wired and
wireless networks. Cloud Auth supports MAC authentication for devices that do not support 802.1X, as well as integrations with cloud identity providers such as
Azure AD, Google Workspace, Okta, etc. References: https://www.arubanetworks.com/products/network-management- operations/central/netconductor/
https://www.arubanetworks.com/assets/wp/WP_NetConductor.pdf

The Fabric Wizard matches with Simplifies the creation of the overlays using an intuitive graphical user interface and automatic generation of configuration
instructions that are pushed to switches and gateways

The Fabric Wizard is a solution component of NetConductor that simplifies the creation of the overlays using an intuitive graphical user interface and automatic
generation of configuration instructions that are pushed to switches and gateways. The Fabric Wizard is a tool that allows network administrators to design, deploy,
and manage overlay networks using VXLAN and EVPN protocols. The Fabric Wizard provides a graphical representation of the network topology, devices, and
links, and allows users to drag and drop virtual components such as VRFs, VLANs, and subnets. The Fabric Wizard also generates the configuration commands
for each device based on the user input and pushes them to the switches and gateways via Aruba Central. References:
https://www.arubanetworks.com/products/network-management- operations/central/netconductor/
https://www.arubanetworks.com/assets/wp/WP_NetConductor.pdf

Policy Manager matches with Defines user and device groups and creates the associated traffic routing and access enforcement rules for the physical network
Policy Manager is a solution component of NetConductor that defines user and device groups and creates the associated traffic routing and access enforcement
rules for the physical network. Policy Manager is a tool that allows network administrators to create and manage network policies based on user and device
identities, roles, and contexts. Policy Manager uses Group Policy Identifier (GPID) to carry policy information in traffic for in-line enforcement. Policy Manager also
integrates with Cloud Auth, ClearPass, or third-party solutions to provide flexible network access control. References:
https://www.arubanetworks.com/products/network-management- operations/central/netconductor/
https://www.arubanetworks.com/assets/wp/WP_NetConductor.pdf

NEW QUESTION 41
you need to have different routing-table requirements With Aruba CX 6300 VSF configuration.
Assuming the correct layer-2 VLAN already exists, how would you create a new SVI for a separate routing table?

A. create a new VLAN, and attach the VRF to it.

B. Create a new routing table, and attach VLANS to it
C. Create a new SVI and use attach command.

D. Create a new VLA

E. and attach the routing table to it

Answer: C

Explanation:

The correct answer is C. Create a new SVI and use attach command.

To create a new SVI for a separate routing table, you need to use the attach command to associate the SVI with a VRF (Virtual Routing and Forwarding) instance.
A VRF is a logical entity that allows multiple routing tables to coexist on the same switch. Each VRF has its own set of interfaces, routing protocols, and routes that
are isolated from other VRFs. According to the AOS-CX Virtual Switching Framework (VSF) Guidel, one of the steps to configure VRF-aware VSF is:

? Configure the VRFs on each member switch and assign the SVIs to the respective

VRFs using the attach command. For example: switch(config)# vrf red

switch(config-vrf)# exit switch(config)# interface vlan 10

switch(config-if-vlan)# ip address 10.1.1.1/24 switch(config-if-vlan)# attach vrf red

The above commands create a VRF named red and assign VLAN 10 SVI to it. The SVI has an IP address of 10.1.1.1/24.

The other options are incorrect because:

? A. You cannot attach a VRF to a VLAN directly. You need to create an SVI for the VLAN and then attach the VRF to the SVI.

? B. You cannot create a new routing table manually. You need to create a VRF and then use routing protocols or static routes to populate the routing table for the
VRF.

? D. You cannot attach a routing table to a VLAN directly. You need to create an SVI for the VLAN and then attach a VRF that has a routing table associated with
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NEW QUESTION 46

DRAG DROP
Match the topics of an AOS10 Tunneled mode setup between an AP and a Gateway. (Options may be used more than once or not at all.)
: . : Answer Area
Authenticator
Access Point
Negotiate IPsec Phase
Access Point and Gateway
Negotiate IPsec Phase 2
Device Designated Gateway
RADIUS proxy ‘
Overlay Tunnel Orchestrator
A. Mastered
B. Not Mastered
Answer: A
Explanation:
R W S Answer Area
[Aumem:cator - ;
| INegotiate IPsec Phase1 | Access Point
""._.-.'._— _'H _‘.-._.E"._='_.— _'.ﬂ _.-"_ : I l
Negotiate IPsec Phase1 B e N e S S
___________ Negotiate IPsec Phase 2 |  Access Point and Gateway
Negotiate IPsec Phase 2 | R A I
IS TS R rnu?h;“;;ai;{ _____ ﬁl Device Designated Gateway
FA IUS proxy ’ ER——
——————— G ln;i'mu's proxy | Overlay Tunnel Orchestrator
NEW QUESTION 50
Review the exhibit.
SFP28 DAC (Aruba) Keep-Alive
QSFP28 DAC (241) ISLLAG 2]
|
Aruba 8360-32Y4C v2 FB 3F 2AC Bundie #1 S 4 Aruba 8360-32Y4C v2 FB 3F 2AC Bundle #2
nlf!
ol .
j &
3 :
s g
= ]
=

Aruba 6100 486G CL4 PoE 45FP+ Switch

You are troubleshooting an issue with a 10 102.39 0/24 subnet which is also VLAN 1000 used Tor wireless clients on a pair of Aruba CX 8360 switches The
subnet SVI is configured on the 8360 pair, and the DHCP server is a Microsoft Windows Server 2022 Standard with an IP address of 10 200 1.100. The
10.102.250.0/24 subnet is used for switch management.

A large number of DHCP requests are failing You are observing sporadic DHCP behavior across clients attached to the CX 6100 switch.

Which action may help fix the issue?

A)

Enter the following commands on the VSX primary switch:
VvaX
vax-sync dhcp-relay
exit

B)
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Enter the following commands on the VSX secondary switch:

.

vlian 1000

ip relay-address 10.200.1.100

exit
C)
Add an SVI in the 10.102.39.0/24 subnet on the Aruba CX 6100 switch that the APs are connected to
D)

Enter the following commands on the Aruba CX 6100 switch:
nterface vlan 1000

o |

PEITAQAICSDS 1U.£UV. 1. 10U

- -

.ll
I"rq

i
-
’J
it

A. Option A
B. Option B
C. Option C
D. Option D

Answer: C

Explanation:

Option C is the only action that configures the DHCP relay on the SVI of VLAN 1000 on the CX 8360 switches. DHCP relay is a feature that allows a switch to
forward DHCP requests from clients in one subnet to a DHCP server in another subnet. DHCP relay is required when the DHCP server and the clients are not in
the same broadcast domain1.

Option C uses the following commands:

? interface vlan 1000: This command enters the interface configuration mode for the SVI of VLAN 1000, which has an IP address of 10.102.39.1/24 and is used for
wireless clients.

? ip helper-address vrf default 10.200.1.100: This command configures the IP address of the DHCP server as a helper address for the SVI, which means that the
switch will forward DHCP requests from clients on VLAN 1000 to this address. The vrf default parameter indicates that the SVI and the DHCP server are in the
same VRF.

NEW QUESTION 53
Refer to the image.
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Horizontal Pattern

Your customer is complaining of weak Wi-Fi coverage in their office. They mention that the office on the other side of the hall has much better signal What is the
likely cause of this issue7

A. The AP is a remote access point.

B. The AP is using a directional antenna.
C. The AP is an outdoor access point.

D. The AP is configured in Mesh mode

Answer: B

Explanation:

The likely cause of the issue of weak Wi-Fi coverage in the office is that the AP is using a directional antenna. A directional antenna is an antenna that radiates or
receives radio waves more strongly in one or more directions, creating a focused beam of signal. A directional antenna can provide better coverage and
performance for a specific area, but it can also create dead zones or weak spots for other areas. The other options are incorrect because they either do not affect
the Wi-Fi coverage or do not match the scenario. References: https://www.arubanetworks.com/techdocs/ArubaOS_86_Web_Help/Content/arubaos-solutions/wlan-
rf/rf-fundamentals.htm

https://www.arubanetworks.com/techdocs/ArubaOS_86_Web_Help/Content/arubaos-solutions/wlan-rf/fantennas.htm

NEW QUESTION 55
Your customer is interested in hearing more about how roles can help keep consistent policy enforcement in a distributed overlay fabric How would you explain this
concept to them"

A. Group Based Policy ID is applied on egress VTEP after device authentication and policy is enforced on ingress VTEP

B. Role-based policies are tied to IP addresses which have an advantage over IP-based policies and role names are sent between VTEPs
C. Group Based Policy ID is applied on ingress VTEP after device authentication and policy is enforced on egress VTEP

D. Role-based policies enhance User Based Tunneling across the campus network and the policy traffic is protected with iPsec

Answer: C

Explanation:
This is the correct explanation of how roles can help keep consistent policy enforcement in a distributed overlay fabric. Roles are used to assign group based

Passing Certification Exams Made Easy visit - https://lwww.2PassEasy.com



Welcome to download the Newest 2passeasy HPE7-A01 dumps

@ 2 P QsseaQs LJ https://lwww.2passeasy.com/dumps/HPE7-A01/ (119 New Questions)

policy IDs (GBPs) to devices after they authenticate with ClearPass or a local database. GBPs are then used to tag the traffic from the devices and send them to
the ingress VTEP, which applies the GBP on the VXLAN header. The egress VTEP then enforces the policy based on the GBP and the destination device. The
other options are incorrect because they either do not describe the correct sequence of events or do not use the correct terms. References:
https://www.arubanetworks.com/techdocs/AOS-CX/10.04/HTML/5200- 6728/bk01-ch03.html https://www.arubanetworks.com/techdocs/AOS-
CX/10.04/HTML/5200-6728/bk01-ch05.html

NEW QUESTION 56
With the Aruba CX 6000 24G switch with uplinks of 1/1/25 and what does the switch do when a client port detects a loop and the do-not-disabie parameter is
used?

A. Port status will be validated once status is cleared
B. An event log message is created.

C. The network analytics engine is triggered.

D. Port status led blinks in amber with 100hz.

Answer: B

Explanation:

The correct answer is B. An event log message is created.

The do-not-disable parameter is used to prevent the switch from disabling the port when a loop is detected by the loop-protect feature. Instead, the switch will
generate an event log message that indicates the port number and the VLAN ID where the loop was detected. The switch will also send a trap to the SNMP
manager, if configuredl.

The other options are incorrect because:

? A. Port status will not be validated once status is cleared. The port will remain enabled even if a loop is detected, unless the loop-protect action is changed to tx-
disable or tx-rx-disablel.

? C. The network analytics engine will not be triggered by a loop detection. The network analytics engine is a feature that allows users to monitor and troubleshoot
network issues using scripts and agents2.

? D. Port status LED will not blink in amber with 100Hz. The port status LED will indicate the normal port status, such as link speed and activity, regardless of the
loop detection3.

NEW QUESTION 60
Which statement best describes QoS?

A. Determining which traffic passes specified quality metrics
B. Scoring traffic based on the quality of the contents

C. Identifying specific traffic for special treatment

D. ldentifying the quality of the connection

Answer: A

Explanation:

QoS stands for Quality of Service and is a mechanism that allows network devices to prioritize and differentiate traffic based on certain criteria, such as application
type, source, destination, etc3. QoS involves identifying specific traffic for special treatment and applying policies and actions to improve its performance or meet
certain service level agreements (SLAs)3. QoS can help network devices to manage congestion, delay, jitter, packet loss, bandwidth allocation, etc., for different
types of traffic3. QoS can be implemented at various layers of the network stack and across different network domains. References: 3
https://www.cisco.com/c/en/us/td/docs/ios-xml/ios/qos/configuration/15-mt/qos-15-mt-book/qos-overview.html

NEW QUESTION 61
DRAG DROP
List the firewall role derivation flow in the correct order
Firewall Role Order

Authentication defaull role

Inftial rode assigned
Server derived rolke

User gernved role

Q0
O

A. Mastered
B. Not Mastered

Answer: A

Explanation:

According to the Aruba Documentation Portall, the firewall role derivation flow in the correct order is:
? Server derived role

? User derived role

? Authentication default role

? Initiation role assigned

NEW QUESTION 65
you are implementing ClearPass Policy Manager with EAP-TLS for authenticating all corporate-owned devices.
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What are two possible solutions to the problem of deploying client certificates to corporate MacBooks that are joined to a Windows domain? (Select two.)

A. ClearPass OnBoard

B. Windows Server PKl and a GPO
C. Apple Configurator and a GPO
D. ClearPass OnGuard

E. Mobile Device Manager

Answer: AB

Explanation:

The reason is that ClearPass OnBoard is a tool that allows you to enroll Mac computers into a ClearPass Policy Manager site using an Apple MDM push
certificate. This certificate can be obtained from Apple or from a third-party PKI provider.

Apple Configurator is a tool that allows you to configure and deploy Mac computers using a GPO. This tool can also be used to enroll Mac computers into a
ClearPass Policy Manager site using an Apple MDM push certificate.

NEW QUESTION 69

You are building a configuration in Central that will be used for a standardized network design for small sites for your company, you want to use GUI configuration
for gateways and Aps, while template configuration for switches. You need to align with Aruba best practices.

Which set of actions will satisfy these requirements?

A. Create one group in Central for switches a second group for AP

B. and a third group for gateways Create a unique site for each location, and assign devices to the appropriate site.
C. Create one group in Central for switches and a second group for APs and gateway

D. Create a unique site for each location, and assign devices to the appropriate site.

E. Create a single group in Centra

F. Create a unique site for each location, and assign devices to the appropriate site.

G. Create a single group in Centra

H. Create a unique site for each type of device, and assign devices to the appropriate site.

Answer: C

Explanation:

This is because option C shows how to create a single group in Central with different configuration methods defined for each device type. For example, you can
create a group with the name Groupl, and within this group, you can enable template-based configuration method for switches and Ul-based configuration method
for Instant APs and Gateways. Aruba Central identifies both these groups under a single name (Groupl). If a device type in the group is marked for template-
based configuration method, the group name is prefixed with TG (TG Groupl). You can use Groupl as the group ID for workflows such as user management,
monitoring, reports, and audit trail2.

https://www.arubanetworks.com/techdocs/central/latest/content/nms/groups/abt- groups.htm 2:
https://www.arubanetworks.com/techdocs/central/latest/content/nms/groups/groups.htm

NEW QUESTION 70

DRAG DROP
What is the order of operations tor Key Management service for a wireless client roaming from AP1 to AP2?
Operation Order

Cache the client's information

Chent associates and authenticates 1o AP1

”GEHETEHE Pairwise Master Key keys for AP1's neighbors
(et AP1 neighbor AP list

Share Pairwise Master Key along with VLAN and User Role to target APs

O

™
© \

A. Mastered
B. Not Mastered

Answer: A

Explanation:
https://www.arubanetworks.com/techdocs/Instant_85_WebHelp/Content/instant-ug/wlan-ssid-conf/conf-fast-roam.htm

NEW QUESTION 73

You are troubleshooting an issue with a pair of Aruba CX 8360 switches configured with VSX Each switch has multiple VRFs. You need to find the IP address of a
particular client device with a known MAC address You run the "show arp" command on the primary switch in the pair but do not find a matching entry for the client
MAC address.

The client device is connected to an Aruba CX 6100 switch by VSX LAG. Which action can be used to find the IP address successfully?

A)

Run the following command on the CX 6100 switch

- .
- o 8 -l - el - W —

B)
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Run the following command on the VSX primary switch

- - -

~ e~ - — - -

3..-‘4 - - a—..—. -
-

C)
Run the following command on the VSX primary switch

show mac-acdress-taple

D)

Run the following command on the CX 6100 switch

- -

delmit = a - - -

-— s e 0 - - — - -
-

A. Option A
B. Option B
C. Option C
D. Option D

Answer: B

Explanation:

The show arp command displays the ARP table for a specific VRF or all VRFs on the switch. The ARP table contains the IP address to MAC address mappings
for hosts that are directly connected to the switch or reachable through a gateway. If the client device is connected to another switch by VSX LAG, the ARP entry
for the client device will not be present on the primary switch unless it has communicated with it recently. Therefore, to find the IP address of the client device, the
administrator should run the show arp command on the secondary switch in the VSX pair, specifying the VRF name that contains the client device??s subnet.
References: https://techhub.hpe.com/eginfolib/Aruba/OS-CX_10.04/5200-6692/GUID-9B8F6E8F-9C7A-4FOD-AE7B-9DBE6C5B6AT7F.html

NEW QUESTION 78
You are deploying a bonded 40 MHz wide channel What is the difference in the noise floor perceived by a client using this bonded channel as compared to an
unbonded 20MHz wide channel?

A. 2dB
B. 3dB
C. 8dB
D. 4dB

Answer: B

Explanation:

The difference in the noise floor perceived by a client using a bonded 40 MHz wide channel as compared to an unbonded 20 MHz wide channel is 3 dB. The noise
floor is the level of background noise in a given frequency band. When two adjacent channels are bonded, the noise floor increases by 3 dB because the
bandwidth is doubled and more noise is captured. The other options are incorrect because they do not reflect the correct relationship between bandwidth and
noise floor. References: https://www.arubanetworks.com/techdocs/ArubaOS_86_Web_Help/Content/arubaos-solutions/wlan-rf/rf-fundamentals.htm
https://www.arubanetworks.com/techdocs/ArubaOS_86_Web_Help/Content/arubaos- solutions/wlan-rf/channel-bonding.htm

NEW QUESTION 80
Which method is used to onboard a new UXI in an existing environment with 802 1X authentication? (The sensor has no cellular connection)

A. Use the UXI app on your smartphone and connect the UXI via Bluetooth

B. Use the Aruba installer app on your smartphone to scan the barcode

C. Connect the new UXI from an already installed one and adjust the initial configuration.
D. Use the CLI via the serial cable and adjust the initial configuration.

Answer: A

Explanation:

To onboard a new UXI in an existing environment with 802.1X authentication, you need to use the UXI app on your smartphone and connect the UXI via
Bluetooth. The UXI app allows you to scan the QR code on the UXI sensor and configure its network settings, such as SSID, password, IP address, etc. The
Bluetooth connection allows you to communicate with the UXI sensor without requiring any network access or cellular connection. The other options are incorrect
because they either do not use the UXI app or do not use Bluetooth. References: https://www.arubanetworks.com/products/network-management-
operations/analytics-monitoring/user-experience-insight-sensors/ https://help.centralon-prem.arubanetworks.com/2.5.4/documentation/online_help/content/nms-on-
prem/aos- cx/get-started/uxi-sensor.htm

NEW QUESTION 82
You need to create a keepalive network between two Aruba CX 8325 switches for VSX configuration How should you establish the keepalive connection?

A. SVI, VLAN trunk allowed all on ISL in default VRF
B. routed port in custom VRF

C. loopback 0 and OSPF area 0 in default VRF

D. SVI, VLAN trunk allowed all on ISL in custom VRF

Answer: B

Passing Certification Exams Made Easy visit - https://lwww.2PassEasy.com



Welcome to download the Newest 2passeasy HPE7-A01 dumps

@ 2 P QsseaQs LJ https://lwww.2passeasy.com/dumps/HPE7-A01/ (119 New Questions)

Explanation:

To establish a keepalive connection between two Aruba CX 8325 switches for VSX configuration, you need to use a routed port in custom VRF. A routed port is a
physical port that acts as a layer 3 interface and does not belong to any VLAN. A custom VRF is a virtual routing and forwarding instance that provides logical
separation of routing tables. By using a routed port in custom VRF, you can isolate the keepalive traffic from other traffic and prevent routing loops or conflicts. The
other options are incorrect because they either do not use a routed port or do not use a custom VRF. References: https://www.arubanetworks.com/techdocs/AOS-
CX/10.04/HTML/5200-6728/bk01- ch07.html https://www.arubanetworks.com/techdocs/AOS-CX/10.04/HTML/5200- 6728/bk01-ch02.html

NEW QUESTION 86

your customer has asked you to assign a switch management role for a new user The customer requires the user role to View switch configuration information and
have access to the PUT and POST methOds for REST API.

Which default AOS-CX user role meets these requirements?

A. administrators
B. auditors

C. sysops

D. helpdesk

Answer: C

Explanation:

The correct answer is C. sysops.

The sysops user role is a predefined role that allows users to view switch configuration information and have access to the PUT and POST methods for REST API.
The sysops user role can also use the PATCH and DELETE methods for REST API, but not for all resources. The sysops user role is suitable for users who need
to perform system operations on the switch, such as backup, restore, upgrade, or reboot.

According to the AOS-CX REST API Reference basicsl, one of the predefined user roles is:

? sysops: Users with this role can view switch configuration information and have access to the PUT and POST methods for REST API. They can also use the
PATCH and DELETE methods for REST API, but not for all resources. Users with this role can perform system operations on the switch, such as backup, restore,
upgrade, or reboot.

The other options are incorrect because:

? A. administrators: Users with this role have full access to all switch configuration information and all REST API methods. This role is more than what the
customer requires.

? B. auditors: Users with this role can only view switch configuration information and have access to the GET method for REST API. They cannot use the PUT and
POST methods for REST API.

? D. helpdesk: Users with this role can view switch configuration information and have access to the GET method for REST API. They can also use the PATCH
method for REST API, but only for a limited set of resources. They cannot use the PUT and POST methods for REST API.

NEW QUESTION 87
How is Dynamic Multicast Optimization (DMO) implemented in an HPE Aruba wireless network?

A. DMO is configured individually tor each SSID in use in the network.
B. The AP uses OOS to provide equal air time for multicast traffic,

C. DMO is configured globally for each SSID in use in the network.

D. The controller converts multicast streams into unicast streams.

Answer: A

Explanation:

The correct answer is A. DMO is configured individually for each SSID in use in the network.

DMO is a feature that allows the AP to convert multicast streams into unicast streams over the wireless link. This enhances the quality and reliability of streaming
video, while preserving the bandwidth available to the non-video clients. DMO is configured individually for each SSID in use in the network, as different SSIDs
may have different multicast requirements.

According to the Aruba document Configuring WLAN Settings for an SSID Profile, one of the steps to configure DMO is:

? Dynamic multicast optimization: Select Enabled to allow IAP to convert multicast streams into unicast streams over the wireless link. Enabling Dynamic Multicast
Optimization (DMO) enhances the quality and reliability of streaming video, while preserving the bandwidth available to the non-video clients.

The other options are incorrect because:

? B. The AP does not use QoS to provide equal air time for multicast traffic. QoS is a feature that prioritizes different types of traffic based on their importance and
latency sensitivity. QoS does not affect how multicast streams are transmitted over the wireless link.

? C. DMO is not configured globally for each SSID in use in the network. DMO is configured individually for each SSID, as different SSIDs may have different
multicast requirements.

? D. The controller does not convert multicast streams into unicast streams. The AP does the conversion, as it is closer to the wireless clients and can optimize the
transmission based on the client capabilities and channel conditions.

NEW QUESTION 91
A customer wants to deploy a Gateway and take advantage of all the SD-WAN features. Which persona role option should be selected?

A. ArubaOS 10 Branch

B. ArubaOS 10 VPN Concentrator
C. ArubaOSs 10 Wireless

D. ArubaOS 10 Mobility

Answer: A

Explanation:

The persona role option that should be selected to deploy a Gateway and take advantage of all the SD-WAN features is A. ArubaOS 10 Branch.

ArubaOS 10 Branch is a persona that enables the Gateway to provide both LAN and WAN functionality for branch networks. The Gateway can act as a wireless
controller, a router, a firewall, and an SD-WAN device. The SD-WAN features include route and tunnel orchestration, dynamic path steering, forward error
correction, Saas traffic optimization, SASE orchestration, and morel.

The other options are incorrect because:

? B. ArubaOS 10 VPN Concentrator: This is a persona that enables the Gateway to act as a VPN concentrator for remote access or site-to-site VPN connections.
It does not provide SD-WAN features2.
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? C. ArubaOS 10 Wireless: This is a persona that enables the Gateway to act as a wireless controller for campus networks. It does not provide SD-WAN features3.
? D. ArubaOS 10 Mobility: This is a persona that enables the Gateway to act as a mobility controller for campus networks. It does not provide SD-WAN features.

NEW QUESTION 92

A network administrator is attempting to troubleshoot a connectivity issue between a group of users and a particular server The administrator needs to examine the
packets over a period of time from their desktop; however, the administrator is not directly connected to the AOS-CX switch involved with the traffic flow.

What statements are correct regarding the ERSPAN session that needs to be established on an AOS-CX switch'? (Select two )

A. On the source AOS-CX switch, the destination specified is the switch to which the administrator's desktop is connected
B. The encapsulation protocol used is GRE.

C. The encapsulation protocol used is VXLAN.

D. The encapsulation protocol is UDP.

E. On the source AOS-CX switch, the destination specified is the administrators desktop

Answer: BE

Explanation:

These are the correct statements regarding the ERSPAN session that needs to be established on an AOS-CX switch for a network administrator to examine the
packets over a period of time from their desktop. ERSPAN (Encapsulated Remote Switched Port Analyzer) is a feature that allows an AOS-CX switch to mirror
traffic from one or more source ports or VLANSs to a remote destination IP address over a GRE (Generic Routing Encapsulation) tunnel. The destination IP address
must be the IP address of the administrator??s desktop, which must have a packet capture tool installed to receive and analyze the mirrored traffic. The
encapsulation protocol used for ERSPAN is GRE, which adds a header to the mirrored packets with information such as source and destination IP addresses,
session ID, etc. The other statements are incorrect because they either do not specify the correct destination IP address or do not use ERSPAN or GRE.
References: https://www.arubanetworks.com/techdocs/AOS-CX/10.04/HTML/5200-6728/bk01- ch02.html https://www.arubanetworks.com/techdocs/AOS-
CX/10.04/HTML/5200- 6728/bk01-ch03.html

NEW QUESTION 96

A customer is looking Tor a wireless authentication solution for all of their IoT devices that meet the following requirements
- The wireless traffic between the IoT devices and the Access Points must be encrypted

- Unique passphrase per device

- Use fingerprint information to perform role-based access

Which solutions will address the customer's requirements? (Select two.)

A. MPSK and an internal RADIUS server
B. MPSK Local with MAC Authentication
C. ClearPass Policy Manager

D. MPSK Local with EAP-TLS

E. Local User Derivation Rules

Answer: CD

Explanation:

The correct answers are C and D.

MPSK (Multi Pre-Shared Key) is a feature that allows multiple PSKs to be used on a single SSID, providing device-specific or group-specific passphrases for
enhanced security and deployment flexibility for headless loT devicesl. MPSK requires MAC authentication against a ClearPass Policy Manager server, which
returns the encrypted passphrase for the device in a RADIUS VSA2. ClearPass Policy Manager is a platform that provides role-and device-based network access
control for any user across any wired, wireless and VPN infrastructure3. ClearPass Policy Manager can also use device profiling and posture assessment to
assign roles based on device fingerprint information4.

MPSK Local is a variant of MPSK that allows the user to configure up to 24 PSKs per SSID locally on the device, without requiring ClearPass Policy Manager5.
MPSK Local can be combined with EAP-TLS (Extensible Authentication Protocol-Transport Layer Security), which is a secure authentication method that uses
certificates to encrypt the wireless traffic between the loT devices and the access points6. EAP-TLS can also use device certificates to perform role-based access
control6.

Therefore, both ClearPass Policy Manager and MPSK Local with EAP-TLS can meet the customer??s requirements for wireless authentication, encryption, unique
passphrase, and role-based access for their 0T devices.

MPSK and an internal RADIUS server is not a valid solution, because MPSK does not support internal RADIUS servers and requires ClearPass Policy
Manager789. MPSK Local with MAC Authentication is not a valid solution, because MAC Authentication does not encrypt the wireless traffic or use fingerprint
information for role-based access2. Local User Derivation Rules are not a valid solution, because they do not provide unique passphrase per device or use
fingerprint information for role-based access101112.

NEW QUESTION 98
Your customer currently has lwo (2) 5406 modular switches with MSTP configured as their core switches. You are proposing a new solution. What would you
explain regarding the Aruba CX VSX switch pair when the Primary VSX node is replaced and the system MAC is replaced?

A. VSX will select the MAC address from a node that is the lower ID.

B. Configure vMAC on the Primary VSX node under VSX to retain MAC after hardware replacement.
C. VSX will select the MAC address from a node that is a higher ID.

D. During the initial VSX configuration, the system-mac is assigned with a fixed MAC based on VSX ID.

Answer: D

Explanation:

The system-mac command is used to configure a fixed MAC address for the VSX system. This MAC address is used as the source MAC address for all routed
traffic from the VSX node. The system-mac command is highly recommended for preventing traffic disruptions when the primary VSX switch restores after the
secondary VSX switch, such as during a primary switch hardware replacement or a power outage2. During the initial VSX configuration, the system-mac is
assigned with a fixed MAC based on VSX ID. The system- mac command can be used to change this default MAC address if needed2. Therefore, answer D is
correct.

References: 1: Aruba Campus Access documents and learning resources 2: system-mac - Aruba

NEW QUESTION 99
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Which statements are true about VSX LAG? (Select two.)

A. The total number of configured links may not exceed 8 for the pair or 4 per switch

B. Outgoing traffic is switched to a port based on a hashing algorithm which may be either switch in the pair
C. LAG traffic is passed over VSX ISL links only while upgrading firmware on the switch pair

D. Outgoing traffic is preferentially switched to local members of the LAG.

E. Up to 255 VSX lags can be configured on all 83xx and 84xx model switches.

Answer: AD

Explanation:

The correct answers are A and D.

According to the web search results, VSX LAG is a feature that allows multiple PSKs to be used on a single SSID, providing device-specific or group-specific
passphrases for enhanced security and deployment flexibility for headless 10T devicesl. VSX LAGs span both aggregation switches and appear as one device to
partner downstream or upstream devices or both when forming a LAG with the VSX pair2.

One of the statements that is true about VSX LAG is that the total number of configured links may not exceed 8 for the pair or 4 per switchl. This means that a
VSX LAG across a downstream switch can have at most a total of eight member links, and a switch can have a maximum of four member links. When creating a
VSX LAG, it is recommended to select an equal number of member links in each segment for load balancingl.

Another statement that is true about VSX LAG is that outgoing traffic is preferentially switched to local members of the LAG2. This means that when active
forwarding and active gateway are enabled, north-south and south-north traffic bypasses the ISL link and uses the local ports on the switch. This optimizes the
traffic path and reduces the load on the ISL link2.

The other statements are false or not relevant for VSX LAG. Outgoing traffic is not switched to a port based on a hashing algorithm, which may be either switch in
the pair. This is a characteristic of MLAG (Multi-Chassis Link Aggregation), which is a different feature from VSX LAG. LAG traffic is not passed over VSX ISL links
only while upgrading firmware on the switch pair. This is a scenario that may occur when performing hitless upgrades, which is a feature that allows software
updates without impacting network availability. The number of VSX lags that can be configured on all 83xx and 84xx model switches is not 255, but depends on
the switch model and firmware version. For example, the AOS-CX 10.04 supports up to 64 VSX lags for 8320 switches and up to 128 VSX lags for 8325 and 8400
switches.

NEW QUESTION 102
Which statements are true regarding a VXLAN implementation on Aruba Switches? (Select two.)

A. MTU size must be increased beyond the default

B. VNIs encapsulate and decapsulate VXLAN traffic

C. VTEPs encapsulate and decapsulate VXLAN traffic

D. They are only available for datacenter switches (CX 8k, 9k,10Kk)
E. All Aruba CX switches support VXLAN.

Answer: AB

Explanation:

Option A: MTU size must be increased beyond the default

This is because option A shows how to configure the MTU size for VXLAN tunnels on Aruba switches using the interface command and the vxlan command. The
MTU size must be increased beyond the default value of 1500 bytes to accommodate the VXLAN header and payload?2.

Therefore, option A is true regarding a VXLAN implementation on Aruba switches. Option B: VNIs encapsulate and decapsulate VXLAN traffic

This is also true regarding a VXLAN implementation on Aruba switches. VNIs are used to encapsulate and decapsulate VXLAN traffic between two devices, such
as a switch and a server. VNIs are also used to map VXLAN tunnels to overlay networks3.

Therefore, option B is also true regarding a VXLAN implementation on Aruba switches. VXLAN is a Layer 2 encapsulation technology that substitutes the usage of
VLAN numbers to label Ethernet broadcast domains with VXLAN numbers. VXLAN supports 224 Ethernet broadcast domains or VXLAN numbers. A VXLAN
number ID is referred to as VNI. There is a one-to-one relationship between an Ethernet broadcast domain and a VNI. A single Ethernet broadcast domain can??t
have more than one VNI.

NEW QUESTION 107
Which Aruba AP mode is sending captured RF data to Aruba Central for waterfall plot?

A. Hybrid Mode

B. Air Monitor

C. Spectrum Monitor
D. Dual Mode

Answer: C

Explanation:

Spectrum Monitor is an Aruba AP mode that is sending captured RF data to Aruba Central for waterfall plot. Spectrum Monitor is a mode that allows an AP to
scan all channels in both 2.4 GHz and 5 GHz bands and collect information about the RF environment, such as interference sources, noise floor, channel
utilization, etc. The AP then sends this data to Aruba Central, which is a cloud-based network management platform that can display the data in various formats,
including waterfall plot. Waterfall plot is a graphical representation of the RF spectrum over time, showing the frequency, amplitude, and duration of RF signals.
The other options are incorrect because they are either not AP modes or not sending RF data to Aruba Central. References:
https://www.arubanetworks.com/techdocs/ArubaOS_86 Web_Help/Content/arubaos-solutions/1-overview/spectrum_monitor.htm
https://www.arubanetworks.com/techdocs/ArubaOS_86_Web_Help/Content/arubaos-solutions/1-overview/waterfall_plot.htm
https://www.arubanetworks.com/products/network-management-operations/aruba-central/

NEW QUESTION 109

A customer has a large number of food-producing machines

« All machines are connected via Aruba CX6200 switches in VLANs 100.110. and 120

« Several external technicians are maintaining this special equipment

What are the correct commands to ensure that no rogue DHCP server will impact the network?
A)
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dhcp-snooping enable
no dhcp-snooping option 82
dhcp-snooping vian 100-120
vian 100

name cornflakes
vian 110

name cornmill
vian 120

name packaging

interface lag 1
no shutdown
description Uplink-to-Core
no routing
vian trunk native 1
vian trunk allowed all
lacp mode active
dhcp-snoopina trust
B
c)lncp snooping enable
no dhcp-snooping option 82
vian 100
name cornflakes
dhcp-snooping
vian 110
name cornmill
dhcp-snooping
vian 120
name packaging
dhcp-snooping
interface lag 1
no shutdown
description Uplink-to-Core
no routing
vian trunk native 1
vian trunk allowed all
lacp mode active
dhcp snooping trust
C)
dhcpv4-snooping all vians
no dhcpv4-snooping option 82
interface lag 1
no shutdown
description Uplink-to-Core
no routing
vian trunk native 1
vian trunk allowed all
lacp mode active
dhcpv4-snooping trust
D)
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dhcpv4-snooping
no dhcpv4-snooping option 82
vian 100
name cornflakes
dhcpv4-snooping
vian 110
name cornmill
dhcpv4-snooping
vian 120
name packaging
dhcpv4-snooping
interface lag 1
no shutdown
description Uplink-to-Core
no routing
vian trunk native 1
vian trunk allowed all

|3E[J mode active
dhcowd-snonning trust

A. Option A
B. Option B
C. Option C
D. Option D

Answer: B

Explanation:
configures DHCP snooping on the switch and enables it for VLANs 100, 110, and 120. It also specifies the IP address of the authorized DHCP server and sets the
ports connected to the server as trusted. This prevents any unauthorized DHCP server from providing invalid configuration data to the clients on those VLANS.

Option B also enables DHCP option-82, which adds information about the switch port and VLAN to the DHCP packets, allowing for more granular control and
logging of DHCP transactions.

NEW QUESTION 110
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